le Write down ele o((b@fm"ri@ﬂ of o tfe(m(ji()/l,

2. Lot all of dhe 27 relokion Lpwee, 3 oad (123
T, Loy oall ot UL\L s fé(abl(}/d L et pg. E{)ZE oyl gt?
T Line (TLQ 2 relations 0 gijg i
> Define R=§(0melx7 | M) ad 20-mpo3
. \/\/LL(,L, O\E UL\& QD“DLJ'\”& ge&ffw&t’,(&fe Cree 0‘”0[/( WLI‘CK ol éﬂ(/sé
i (ZYer; Fr,-t)e ks i) 1 R, W) zr3;
VM aRl & aeinez | m23
V) - ZBa £ acfnez|ni3]

6. For the glowion & G, ) deconle the set EOL ! @[ZO‘E ok
20\[ 0&1‘20? .

l@ D@éln@ af@/at/}/-, O Z L’:j

nKm & n=an lrsome aeZ
() SRI0T ;i) QRe7: (i) =7 ko2 7 )’(\f’v) 56 R-6 7,
(V) D%(/{LQ ’51\& Cot {"XLC’Z/ /21[ R XLW?‘;
) Deyeabe tly sox fxe | x R23
8; \/\/LWMQQA L&MQ&T\ \Cof O\ fdmm ﬁ?‘ae_ 'N/%JXIV&'? /
Ola Lise all MZ(//(.@WQ{&'(?[W’S \Cro/\q Ly, oty ove "Q\C(_(?/xive
0 1s el velasion in S reflive 7
U, ls  tle velation in fevﬁla/xh/e?
lz @v%ﬁ%& Q‘U lou{»; Ve,ly/w%“fgtf@/x/‘v@’/ witL Scj/\aﬁv%/[o.
12, &U%{'l(;\nj g“” Lue V@,ﬂ[o% “\/Q{GZ/X/V(/// vt EN Grengeive .
. Weice dovon tly Aol of o~ p,%l/l‘t/o\(},cg/ veletion,

ISe Forgoul. of N Reletion o, QL. Liste tlote thog oe %u/’u&(}.(@ vole ting
{éa l/\//l’re D(’Owﬂ VLP/ OCQ%M'?"}O’N &Km %Vi%(ﬂnw (‘,/mj

130 For ol of tly equiveling vtletione & QIS,  gloscle (] ol (4]




A ot beteer A sd R 5 oche ol A xR
TS = L0023 to the posabl vebipioy e

g, 0600 o), S, 00
o g, %(l,l)f)%(z,l)g )EUIMZ)')}?

L, ik&ﬁxi’“tﬁ = E‘k?()/(kw (75 W/W)f o the veletiotae
@ 1098, Eeans, {493, by
(WQ x)n)g §><>><) @A)f {x)x) 4, \4)} floy), (g}%)?

.><>‘ﬂ>) )(j)g ){@/K) ) \7( /)E ) }i(X/X) éﬁ\ﬁ (V)Q}) g(X,X) /(% X)/ V,Wg
E(X’X) ) kﬂ)/ (WLL/}E ) E(X;j) >(‘ﬂlx) J(‘Qﬂj} ,
So WES T3 T W75 (Wr: (viT
q, ({OL“OYC”‘KV EMC‘Z/ M(Oi ) ?Q‘GL'ZDZ:/N
EADR=Y i) E; UI)F w) T;0 §21, 2%, i“‘-?iszj L) STk | el § = e s,

9. {6, 49}, EX@)(‘M), (495 80, yweeS | o9 g, 0 99]

(0. 10
I ges

Iz, n)fﬂ ><>><)§ >‘ﬂ)§ (X’U) ) (ﬂ'x)f ) E(X/X) ) (X,‘ﬂ) ‘)Cf]’x);)

DD, 025 ) T 69, (), ) 9303
(i) A, , (W) yes.

1) 7, z<'><,><>z i) foem)l ) L0507 Foo e | (oo 699)]
Em)0M8 ) bm),t0w) G 19) ) Sk, bet), wT

16<%)) () >(‘3%)}> (><)><) (429 (149) ,(99) §

(WD) Yoy (ns
((u) V-

(<), 1), ) f119)

0, NIMm D 2N D - M?(?}jo%cw{ cod tin ‘3/‘@0[1,\0(/,.[)



S N S SR S a
) te), 64) !M 1= ol 11 =P

14, {i‘? (33 (3% Zz7 Y, sl Mmz,mf, ESSE
) (m)(n)} S medy, SR B |

Al {
W e 60) ()] 11 Gy <13, B 05
L) ey 63 ey 03 =03=()7 =@

P @) (%) @6y (3 =3 =032 14T

DRSO ) ) 5 =0 (23 =02

(\
1
et f{\ K j,u»,sgz




